[bookmark: _GoBack]Maths: To solve problems involving multiplication

Look carefully at these calculations. Molly thinks that she has got a little muddled up with some of these calculations. Can you check her calculations by working each one out yourself? Try to explain any mistakes that she has made.
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Year 3| Spring Term | Week 1to 3 - Number: Multiplication & Division

Multiply 2-digits by 1-digit (1)

Reasoning and Problem Solving

Alex completes the calculation: Alex has Teddy completes the same calculation Teddy has written
multiplied 4 by 2 as Alex. 80 where he
43 %2 rather than 40 by Can you spot and explain his mistake? should have just
2 put an 8 because
T 0 he is multiplying 4
Can you spot her mistake? s tens by 2 which is
8 tens. The answer
x 2 should be 86
T O
8o 6
4 3
x 5 Dexter says, True. Both
multiplications are
6 [09) 4x21=2%x42 equal to 84
Children may
+ 8 explore that one
Is Dexter correct? number has
14 halved and the

other has doubled.
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